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Constructed Response Assessment
Rainfall Task

Alexis and her brother Beniji want to go on a boating trip this weekend, but if the water in the river rises
too much they will cancel the trip.

They checked their rain gauge Thursday night before it started raining and saw that it was empty. When
Benji woke up at 7:00 a.m. Friday morning, he saw that there were 4.8 centimeters of rainwater in the
gauge. Alexis and Beniji continued to record the amount of rainfall in the table below.

Total Rainfall (cm) 4.8 5.8 6.3 7.3

Number of Hours

since 7:00 a.m. Friday 0 4 6 10

a. Alexis claims that the relationship between the amount of rain in the gauge and the number of
hours displayed in the table is a proportional relationship because the amount of rainfall
between 0 and 4 hours is the same as the amount of rainfall between 6 and 10 hours. Do you
agree with Alexis that the relationship is proportional? Use mathematical reasoning to explain
why you agree or disagree with Alexis.

Y
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Constructed Response Assessment

b. Benji observes that the amount of rain in the gauge is increasing at a constant rate of
0.25 centimeters per hour. Use Beniji's observation to determine how much rain will be in the
gauge after 15 hours. Show your work.

Y

C. If the total amount of rainfall is more than 10.5 centimeters by 7:00 a.m. Saturday, Alexis and
Beniji will cancel their trip. Assuming the rain continues to fall at the same rate, will they cancel
their trip? Use words and a table, graph, or equation to justify your decision.

Y
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The CCSS for Mathematical Content Addressed In This Task

Solve real-life and mathematical problems using numerical and algebraic expressions and equations.

7.EE.B.4b  Solve word problems leading to inequalities of the form px + g >ror px + g <r, where p, g, and r
are specific rational numbers. Graph the solution set of the inequality and interpret it in the
context of the problem. For example: As a salesperson, you are paid $50 per week plus $3 per
sale. This week you want your pay to be at least $100. Write an inequality for the number of sales
you need to make, and describe the solutions.

Apply and extend previous understandings of operations with fractions to add, subtract, multiply, and
divide rational numbers.

7.NS.A.3 Solve real-world and mathematical problems involving the four operations with rational numbers.

The CCSS for Mathematical Practice*

1. Make sense of problems and persevere in solving them.

3. Construct viable arguments and critique the reasoning of others.

6. Attend to precision.

* Gray type indicates Mathematical Practices not addressed in this assessment.
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Scoring Guide
The CCSS for Mathematical Content (2 points)

7.NS.A.3 Determines the amount of rain that will be in the rain gauge after 15 hours. The student
may do this in a way such as the following:

- Extending the table using the rate of change provided;

- Multiplying 0.25 by 5 hours and adding 7.3 or multiplying 0.25 by 15 and adding
4.8;

- Setting up and evaluating an algebraic expression (1 Point)

7.EE.B.4b  Determines whether or not the output value is greater than 10.5 cm when the input value
is 24 hours. The student may do this in a way such as the following:

- Setting up and solving the inequality 0.25h + 4.8 > 10.5, or an equivalent
inequality algebraically;
- Extending the data table until it reaches 24 hours;

- Graphing the points shown in the data table and then extending the graph to the
point where the x-coordinate is 24. (1 Point)

The CCSS for Mathematical Practice (3 points)

MP1  Completes all parts of the problem, making sense of 0 as representing 7:00 am and
recognizing that rain fell prior to time equals 0.
(1 Point)
(MP1: Make sense of problems and persevere in solving them.)

MP3 Indicates that Alexis’ reasoning does not provide sufficient evidence of proportionality
because a constant rate of change is not enough to indicate proportionality. Student may do
this by:

- Checking to see if the point (0,0) is represented in the data table;
- Graphing the data points to see whether the relationship is linear and passes through
the origin;

- Using multiplication or division to look for a constant of proportionality in the table
6 63 .
(e.g., does —=——72). (1 Point)
4 5.8
(MP3: Construct viable arguments and critique the reasoning of others.)
MP6 Performs all mathematical calculations accurately, uses correct mathematical language and
notation, and correctly labels quantities. (1 Point)

(MP6: Attend to precision.)

TOTAL POINTS: 5
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1 Ramfail Task

~+ Alexis and her brother Benji wantto go on a boatmg tnp this weekend but if the water in the river
- rises too much they wﬂl cancel the tnp o 2

" They checked their rain gauge Thursday mght before it staried rammg and saw that it wae empty.:' .
" When Benji woke up at 7:00 a.m. Friday morning, he saw that there were 4.8 centimeters of

o _ramwater in the gauge Alex:s and BEij contmued to record the amount of ramfal! in the table i
L below i, e L ol ;

 Total Rainfall cm) | 4.8 | 58 | 6.3 | 7.3

; _;Numberof Hours . r ;
~: | since 7:00 a.m, Friday | .- -

a, Alexis claims that the re!atlonship between ihe amount of raln in the gauge and the number
of hours displayed in the table is a proport:ona! relationship because the amount of rainfall
”rbetween 0 and 4 hours is the same as the amount of rainfall between 6 and-10 hours. Do
" you agree with Alexis that the refationship is- proporhonal'? Use mathemattcal reasonmg to
: explam why you agree or dlsagree with AIexxs g
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Anchor 1 Litho 00127200012
Total Content Points: 2 (7NS.A.3,7EEB.4b)
Total Practice Points: 3 (MP1, MP3, MP6)

The student correctly uses multiplication and addition to find the amount of rain in the
gauge after 15 hours (7.NS.A.3). In Part C, the student completes the table using
multiplication to find the amount of rain added to the gauge in the nine hours between
hour 15 and hour 24, and recognizes that the amount is large enough that Alexis and
Benji will cancel their trip (7.EE.B.4b). The student completes all parts of the problem,
and indicates that there was already rain in the gauge at hour O (“there was 4.8 cm at

0 hours, not 0 cm”) (MP1). The student correctly disagrees with Alexis in Part A, and
explains the disagreement by pointing out that the amount of rain in the gauge at hour O is

. . . the amount of rain
not 0, and that the ratios for each time period for are not equal (MP3).

hours passed

All of the calculations shown are accurate, notation is sufficiently precise, and labels are
used (MP6).

Total Awarded Points: 5 out of 5
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Secure Material: Do Not Copy! ! 2 a

1 Ralnfall Task

- Alexis and her brother Benji want to go oha boatmg tnp thls weekend ‘but if the water in the river
rises too much they will cancel the trip.

They check_ed_ their rain gauge Thursday night befc_:ré it started raining and saw that it was empty.
.. When Benji woke up at 7:00 a.m. Friday morning, he saw that there were 4.8 centimeters of
.. rainwater in the gauge Alexis and Benjl contlnued to record the amount of ramfa!l in the table

below. .
Total Rainfall(cm) | 48 | 58 | 63 | 7.3
Number of Hours .. | . — s
+ | 'since 7:00 a.m. Friday- 0 . v 6, : 10
a Alexis claims that the relationship between the amount of rain in the gauge and the number

of hours displayed in the table is a proportional relationship because the amount of rainfall
between 0-and 4 hours is the same as the amount of rainfall between 6 and 10 hours. Do

. you agree with Alexis that the relationship is proportional? Use mathemattcal reasonmg to 2 25
*explain why you agree or disagree with AIex1s S
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Secure Material: Do Not Copy!

A-2b

b. Beniji observes that the amount of rain in the gauge is lncreasmg at a constant rate of '
0.25 centimeters per hour. Use Beniji’s gbservation to determine how much rain Wl“ be in the

gauge after 15 hours. Show your work. . _ N
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If the total arﬁount of rainfall is more than 10.5 centimeters by 7:00 a.m. Saturday, Alexis
and Benji will cancel their trip. Assuming the rain continues to fall at the same rate, will they
- cancel theirtrip? Use words-and a--table, graph, or equation to justify y_our decisian :
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Anchor 2 Litho 00497200012
Total Content Points: 2 (7NS.A.3,7EEB.4b)
Total Practice Points: 2 (MP1, MP6)

The student uses multiplication and addition to correctly determine the amount of rain in
the gauge after 15 hours (7.NS.A.3). The student calculates the total amount of rainfall
after 24 hours and correctly concludes that Alexis and Benji will cancel their trip
(7.EE.B.4b). The student completes all parts of the problem and recognizes that 0
represents 7:00 a.m. Friday and that rain had already fallen prior to that time (MP1). The
student incorrectly agrees with Alexis in Part A and provides an explanation that does not
demonstrate understanding of proportionality (no credit for MP3). All calculations are
correct, mathematical language and notation is precise, and labels are used (MP6).

Total Awarded Points: 4 out of 5
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Secure Material: Do Not Copy! ! 3 a

1. Rainfall Task

Alexis and her brother Benji want to go on a boating trip this weekend, but if the water in the river
rises too much they will cancel the trip. R

They checked their rain Qa-u'gé T'hu'r'sda'y night before it started raining and saw that it was empty.

. When Benji woke up at 7:00 a.m. Friday morning, he saw that there were 4.8 centimeters of -
rainwater in the gauge. Alexis and Beniji continued to record the amount of rainfall in the table

below. _ = . o _ _ AL R

Total Rainfali(cm) | 48 | 58 | 63 | 7.3

Number of Hours .
since 7:00 a.m. Friday 0 & 6 10
a.  Alexis claims that the 'reiét'iOn'ship between the amount of rain in the gauge and the number

of hours displayed in the table is a proportional relationship because the amount of rainfall
between 0 and 4 hours is the same as the amount of rainfall between 6 and 10 hours. Do
you agree with Alexis that the relationship is proportional? Use mathematical reasoning to
explain why you agree or disagree with Alexis. '
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Secure Material: Do Not Copy! S 3b

b. Benji observes that the amount of rain in the géuge is increasing at a constant rate of -

0.25 centimeters per hour. Use Benji's observation to 'dete"rmirje how much rain will be in the
gauge after 15 hours. Show your work. - e, P Zms

c.  Ifthe total amount of rainfail is more than 10.5 centimeters by 7:00 a.m. Saturday, Alexis
and Benji will cancel their trip. Assuming the rain continues to fali at the same rate, will they
cancel their trip? Use words and a table, graph, or equation fo justify your decision.
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Anchor 3 Litho 0008
Total Content Points: 1 (7.EE.B 4b)
Total Practice Points: 2 (MP1, MP6)

The student calculates the amount of rain that will fall in 15 hours in Part B, but does not
add that to the rainfall already in the gauge (no credit for 7.NS.A.3). The student
calculates the total amount of rainfall after 24 hours and correctly concludes that Alexis
and Benji will cancel their trip (7.EE.B.4b). The student completes all parts of the
problem, and the explanation in Part C demonstrates understanding that O represents
7:00 a.m. Friday and that rain had already fallen prior to that time (MP1). The student
incorrectly agrees with Alexis in Part A and provides an explanation that does not
demonstrate understanding of proportionality (no credit for MP3). All calculations are
correct, mathematical language and notation is precise, and labels are used (MP6).

Total Awarded Points: 3 out of 5
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Secure Material: Do Not Copy! ! 4 a

1. Rainfall Task

Alexis and her brother Benji want to go on: a boating trip this weekend but if the water in the river
- rises too. much they will cancel the tnp _ '

N 'They checked thelr rain gauge Thursday nlght‘before lt started ralmng and saw that it was empty
When Benji woke up at 7:00 a.m. Friday moming, he saw that there were 4.8 centimeters of
rainwater in the gauge. Alexis and Benji continued to record the amount of rainfall in the table
below

 TotalRainfall cm) | 48 | 58 | 63 | 7.3

Nurhber of Hours

since 7:00 a.m. Friday L & do

a. Alexis claims that the relationship'bet\;ueen the amount of rain |n the gauge and the number
of hours displayed in the table is a proportional relationship because the amount of rainfall
between{and 4 hourdis the same as the amount of rainfall between(@ and 10 hours. Do

you agree with Alexis that the relattonshlp is proportlonal'? Use mathema ica reasonlng to

_explam why you agree or disdgree wnth Alexis. -
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Secure Material: Do Not Copy! S 4b

b. Benji observes that the amount of fain in the gauge is increasing at a constant rate of ,
" 0.25 centimeters per hour, Use Benji's observation to determme how mugch rain wnII be inthe
- gauge after 15 hours. Show your work. ‘ :

oot ML lio \\\ )\ \5 |

c. If the total amount of rainfall is more than 10.5 centimeters by 7:00 a.m. Sattirday, Alexis *
- and Benji will cancel their trip. Assuming the rain continues to fall at the same rate, will they -
cancel thelr tnp‘? Use words and a table, graph, or equatlon to justify your decision. = - ‘
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Anchor 4 Litho 00297200016
Total Content Points: 2 (7NS.A.3,7EEB.4b)
Total Practice Points: 1 (MP1)

The student extends the data table to determine the amount of rain in the gauge after 15
hours (7.NS.A.3). While the student extends the data table to determine whether or not
the trip will be cancelled, a minor transcription error is made when filling in the 21st hour
(10.5 for 10.05). The student then makes the logical conclusion consistent with the error
that the trip will be cancelled, because the total amount of rainfall will be more than 10.5
by the 21st hour, which comes before 7:00 a.m. (7.EE.B.4b). The student completes all
parts of the problem and recognizes that O represents 7:00 a.m. Friday and that rain had
already fallen prior to that time (MP1). The student incorrectly agrees with Alexis in
Part A and provides an explanation that does not demonstrate understanding of
proportionality (no credit for MP3). The student writes the incorrect amount of rainfall
for 21 hours, demonstrating a lack of precision (no credit for MP6).

Total Awarded Points: 3 out of 5
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1. Rainfall Task

a

Alexis and her brother Benji want to go on a boating tnp this weekend but if the water in the river

- rises too much they will cancel the trip.

. They:checked their rain gauge Thursday night before it started ralnlng and saw that lt was empty

When Benji woke up at 7:00 a.m. Friday moming, he saw that there were 4.8 centimeters of
rainwater in the gauge Alexis and Benii continued to record the amount of rainfall in the table

below.
Total Rainfall (cm) | 48 | 58 | 63 | 7.3~
Number of Hours » iy
since 7:00am.Friday | 0 | 4 | € [ 10
a. - Alexis claims that the relationship between the amount of rain in the gauge and the number

of hours displayed in the table is a proportional relationship because the amount of rainfall

between 0 and 4 hours is the same as the amount of rainfall between 6 and 10 hours. Do

you agree with Alexis that the relationship is proportional? Use mathematlca! reasoning to
explain why you agree or dlsagree with Alexis.
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Secure Material: Do Not Copy! S Sb

b. Benji observes that the amount of rain in the gauge is increasing at a constant rate of
0.25 centimeters per hour. Use Benji’'s observation to determme how much rain will be i in the
. gauge after 15 hours Show your work :

s 0% TR
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c.  Ifthe total amount of rainfall is more than 10.5 centimeters by?OOa m. Saturday, Alexis -

. and Benji will cancel their trip. Assuming the rain continues to fall at the same rate, will they
cancel thelr trip? Use words and a table graph, or equation to ]UStlfy your decision.
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Anchor 5 Litho 00737200016
Total Content Points: 1 (7.EE.B 4b)
Total Practice Points: 1 (MP1)

The student calculates the amount of rain that falls in 15 hours, but does not add that to
the rain already in the gauge (no credit for 7.NS.A.3). The student extends the data table
to determine the total amount of rain in the gauge after 24 hours, and then correctly
concludes that Alexis and Benji will cancel their trip (7.EE.B.4b). The student completes
all parts of the problem, and the work in Part C shows recognition that O represents

7:00 a.m. Friday and that rain had already fallen prior to that time (MP1). The student
incorrectly agrees with Alexis in Part A and provides an explanation that does not
demonstrate understanding of proportionality (no credit for MP3). The student uses
imprecise mathematical language in Part A, making the response unclear (no credit

for MP6).

Total Awarded Points: 2 out of 5
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Secure Material: Do Not Copy! ! 6a

1 ‘Rainfall Task .

Alexis and her brother Beniji want to goona boatlng trip thls weekend but if the water in the river
rises too much they will cancel the trip.

‘They checked their rain gauge Thursday night before it started ralnlng and saw that |t was empty.
- 'When Benji woke up at 7:00 a.m. Friday morning, he saw that there were 4.8 centimeters of

rainwater in the gauge Aléxis and Benji continued to record the amount of ramfall inthetable =~
‘ below _

Total Rainfall (cm) 48 | 58 | 63 | 7.3

Number of Hours
since 7:00 a.m. Friday

o | 4| 610

a.. Alexis claims that the relationship between the amount of rain in the gauge and the number
of hours displayed in the table is a proportional relationship because the amount of rainfall
between 0 and 4 hours is the same as the amount of rainfall between 6 and 10 hours, Do

- you agree with Alexis that the relationship is proporhonal'? Use mathematlcal reasonmg to
" explain why you agree or dlsagree with Alexis.
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Grade 7 — 2013-14, Phase 1, Stage 2 Pilot
Constructed Response. Assessment

b. Benjl observés that the amount of rain in the gauge is increasing at a constant rate of :
' 0.25 centimeters per hour. Use Benji's observation to determine how much rain will be in the

gauge after 15 hours. Show your work.

—
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e 0 the total amount of rainfall is more than 10.5 centimeters by 7:00 a.m. Saturday, Alexis -
- "and Benji will cancel their trip. Assuming the rain continues to fall at the same rate, will they '
cancel their trip? Use words and a table, graph, or equation to justify your decision.
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Anchor 6 Litho 00107200016
Total Content Points: 1 (7.NS.A3)
Total Practice Points: 1 (MP1)

The student extends the data table to determine how much rain will be in the gauge after
15 hours (7.NS.A.3). The student extends the data table incorrectly in Part C due to a
fundamental error in applying the rate of change, rather than a simple error in
transcription, and, due to the incorrect table, correctly draws the inaccurate conclusion
that Alexis and Benji will not cancel their trip. Although the conclusion drawn is correct
based on the incorrect table, the error in completing the table is significant enough to
indicate a misunderstanding of the word problem (no credit for 7.EE.B.4b). The student
completes all parts of the problem, and the work shown in Part A and Part B clearly
shows that the student understands there was rain in the gauge prior to hour O (MP1). The
student incorrectly agrees with Alexis in Part A and provides an explanation that does not
demonstrate understanding of proportionality (no credit for MP3). The response is
insufficiently labeled; for instance, it is unclear what the hours 4-7 denote in Part C (no
credit for MP6).

Total Awarded Points: 2 out of 5
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Secure Material: Do Not Copy!

1. Rainfall Task

A-Ta

Alexis and her brother Benjl want to go on a boating trip thls weekend, but if the water in the river

nses too much they W|II cancel the tnp

They checked the:r rain gauge Thursday night before |t started raln[ng and saw that it was empty.
When Benp woke up at 7:00.a.m. Friday moming, he saw that there were 4.8 centimeters of
rainwater in the gauge Alexis and Benp contmued to rec:ord the amount of ramfall in the tabIe

- below.

Total Rainfa_ll {cm)

4.8

53

6.3

7.3

Number of Hours
since 7:00 a.m. Friday

0

o

6

10 |

Alexis claims that the refationship between the amount of rain in the gauge and the number

of hours displayed in the table is a proportional relationship because the amount of rainfall
between 0 and 4 hours is the same as the amount of rainfall between 6 and 10 hoirs. Do
you agree with Alexis that the relationship is proport[onal'? Use mathemat:cal reasonlng to _
explain why you agree or disagree with Alems -
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Secure Material: Do Not Copy! S 7b

b. -+ Benji observes that the amount of rain in the gauge is increasing at 2 constantrate of - -
. 0.25 centimeters per hour. Use Benji's observatlon to determine how much rain:will be in the._'
gauge after 15 hours. Show yourwork. -~ - : : :

Y O&% l'%
| >c.

0.35mg= 10
0.2 = 12
79‘5’5" 096

¢. - Ifthe total amount of rainfal is more than 10.5 centimeters by 7:00 a. m. Saturday, Alexis
- and Benji will cancel their trip. Assuming the rain continues to fall at the same rate, will they
cancel their tnp’? Use words and a table, graph or equation to justlfy your decision.
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Anchor 7 Litho 00177200016
Total Content Points: 0
Total Practice Points: 1 (MP3)

The student does not correctly determine the amount of rain in the gauge after 15 hours
(no credit for 7.NS.A.3). The student extends the data table incorrectly in Part C and
draws no conclusion (no credit for 7.EE.B .4b). The student attempts all parts of the
problem, but shows no understanding that O represents 7:00 a.m. Friday or that rain had
already fallen prior to that point (no credit for MP1). The student disagrees with Alexis in
Part A and provides a correct explanation (“if you draw a proportion 5;48 - 6 will not

8 x
turn out with the answer 6.3”) (MP3). The incorrectly completed table in Part C
demonstrates a lack of precision (no credit for MP6).

Total Awarded Points: 1 out of 5
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Secure Material: Do Not Copy! ! 83

1 Ramfall Task

Alexis and her brother Benji want to go on a boating tnp this weekend but if the water in the nver
rises too much they will cancel the trip.

- They checked their rain gauge Thursday mght before it started rammg and saw that it was empty
When Benjl woke up at 7:00 a.m. Friday morning, he saw that there were 4.8 centimeters of

rainwater in the gauge Alexis and Benji continued to record the amount of rainfall in the table
below. :

Total Rainfall cm) | 48 | 58 | 63 | 7.3

Number of Hours -

since 7:00 a.m. Friday 0 _4_ VS

a. Alexis claims that the relationship between the amount of rain in the gauge and the number
of hours displayed in the table is a proportional relationship because the amount of rainfall
between 0.and 4 hours is the same as the amount of rainfall between 6 and 10 hours..Do .
you agree with Alexis that the relationship is proportional? Use mathematlca[ reasoning to

“explain why you agree or d:sagree with Alexis.
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Secure Material: Do Not Copy!

‘ BEI'I]I observes that the amount of rain in the gauge is increasing at a constant rate of
0.25 centimeters per hour. Use Benjl s observatlon to determine how much rain will be in the
gauge after 15 hours. Show your work.
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If the total amount of ralnfall is more than 10.5 cent[meters by 7:00 am. Saturday, AEex1s '
and Benji will cancel their trip. Assuming the rain continues to fall at the same rate, will 1hey
cancel their tnp’? Use words and a table, graph, or equation o justify your decision. .

&\}C 8,.,-1

TR)s |,

NOIF) 15

Moy H\m

Litho#: 0053
Page 27 of 37


Monica



Anchor & Litho 0053
Total Content Points: 1 (7.NS.A3)
Total Practice Points: O

The student correctly calculates the amount of rain in the gauge after 15 hours in Part B,
and then rounds to the nearest tenth to get 8.6 (7.NS.A.3). The student attempts to extend
the table in Part C, but makes a calculation error at 20 hours and extends the table to 25
hours instead of 24, providing no evidence that the rain will exceed 10.5 cm at 24 hours
(no credit for 7.EE.B.4b). The student attempts all parts of the problem, but the use of 25
in Part C makes it unclear if the student understands that O represents 7:00 a.m. Friday
(no credit for MP1). The student correctly disagrees with Alexis in Part A, but the

48% ,58= Si%j (no credit

explanation uses invalid mathematical reasoning (4.8 =

for MP3). The student makes a calculation error when determining the rainfall at 20
hours (no credit for MP6).

Total Awarded Points: 1 out of 5
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Secure Material: Do Not Copy! ! 9a

-1, Rainfali Task

Alexis and her brother Benjl want to go ona boatmg tnp this weekend but if the water in the river -
rises too much they will cancel the trip. - :

~They checked their rain gauge Thursday nlght before it started raining. and saw that it was empty
When Benji woke up at 7:00 a.m. Friday morning, he saw that there were 4.8 centimeters of

rainwater in the gauge. Alexis and Benji contmued to record the amount of rainfall in the table
below o . _ : _

Total Rainfalicm) | 48 | 58 | 6.3 | 7.3

‘Number of Hours

since 7:00am.Friday | @ | 4 | & | 10

a.  Alexis claims that the rélationship between the amount of rain in the gauge and the number
of hours displayed in the table is a proportional relationship because the amount of rainfall
between 0 and 4 hours is the same as the amount of rainfall between 6 and 10 hours. Do

you agree with Alexis that the relationship is proportional? Use mathematlcal reasonmg to
explain why you agree or disagree with Alexis.
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Secure Material: Do Not Copy! S 9b

b, Benji observes that the amount of rain in the gauge is increasing at a constant rate of
- .-~ 0.25 centimeters per hour. Use Benji's observat[on to determine how much ram WIH bein the '
- ‘gauge after 15 hours Show your work S _ S

i

\»S O.@g = 0
w\o Mgww \C
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c. : lfthe total amount of rainfall is more than 10.5 centlmeters by 7:00 a.m. Saturday, Alexis
- and Benji will cancel their trip. Assuming the rain ‘continues to fall at the same rate, will they
cancel their trip? Use words and a table, graph, or equation to justify your decision.
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Anchor 9 Litho 0020
Total Content Points: 0
Total Practice Points: 0

In Part B, the student does not correctly calculate the amount of rain in the gauge after 15
hours (no credit for 7.NS.A.3). The student incorrectly states that Alexis and Benji will
not cancel their trip, and provides no mathematical or graphical reasoning for this
conclusion (no credit for 7.EE.B.4b). The student attempts all parts of the problem, but
demonstrates no understanding that O represents 7:00 a.m. Friday or that rain fell prior to
that time (no credit for MP1). The student correctly disagrees with Alexis in Part A, and
the explanation (“they don’t all equal the same number when you divide both numbers”)
is potentially true depending on what the student means by “divide both numbers.” More
specific language or some appropriate calculations would be needed to make the point
clear (no credit for MP3). The student does not show enough work to demonstrate correct
mathematical language and notation, and no quantities are labeled (no credit for MP6).

Total Awarded Points: O out of 5
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Secure Material: Do Not Copy! ! 1 O a

1. Rainfall Task

Alexis and her brother Benji want to go ona boatmg trip this weekend but if the water in the river
nses too much they will cancel the trip.

They checked their rain gauge Thursday nlght before it started raining and saw that it was empty
When Benji woke up at 7:00 a.m. Friday morning, he saw that there were 4.8 centimeters of -
rainwater in the gauge. Atems and Benji continued to record the amount of rainfall in the table .

below e
“Total Rainfall (cm) | 48 | 58 | 6.3 | 7.3
't Number of Hours | A AR
since 7:00 a.m. Friday | - Y ~ 9|
a 3 Alexis claims that the relationship between the amount of rain in the gauge and the number

of hours displayed in the table is a proportional relationship because the amount of rainfall

between 0 and 4 hours is the same as the amount of rainfall between 6 and 10 hours. Do

you agree with Alexis that the relationship is proportional? Use mathemat:cal reasomng to
- explain why you agree or disagree with Atexns
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Secure Material: Do Not Copy! S 1 Ob

b. Beniji observes that the amount of rain in the gauge is increasing at a constant rate of
0.25 centimeters per hour. Use Benji's observation to determine how much rain W|ll be in the
gauge aﬁer 15 hours. Show your work

IS ) w_tl'}- be 23 55 C'M) q‘f‘
i e gyt - 1D ey

e, . Ifthe total'amount of rainfall is more than 10.5 centimeters by 7:00 am. Saturdéy, Alexis -
and Beniji will cancel their trip. Assuming the rain continues to fall at the same rate, will they
cancel thelrtnp‘? Use words and a table graph, or equation to justify your decision. .
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Anchor 10 Litho 0060
Total Content Points: 0
Total Practice Points: 0

The student correctly determines the amount of rain in the gauge after 15 hours, but no
work is shown (no credit for 7.NS.A.3). The student incorrectly states that Alexis and
Benji will not cancel their trip, and provides no mathematical or graphical reasoning for
this conclusion (no credit for 7.EE.B .4b). The student attempts all parts of the problem,
but demonstrates no understanding that O represents 7:00 a.m. Friday or that rain fell
prior to that time (no credit for MP1). The student incorrectly agrees with Alexis in
Part A, and the explanation is unclear and insufficient (no credit for MP3). The student
does not show enough work to demonstrate correct mathematical language and notation
(no credit for MP6).

Total Awarded Points: O out of 5
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Secure Material: Do Not Copy!

1. Rainfall Task

A-11a

Alexis and her brother Benjl want to goona boatlng tnp thls weekend but if the. water in the river

rises too much they wnli cancel the trip.

They checked their rain gauge Thursday nlght before it started raining and saw that it was empty
When Benji woke up at 7:00 a.m. Friday moming, he saw that there were 4.8 centimeters of -
rainwater in the gauge. Alexis and Benji continued to record the amount of rainfall in the table

below.
Total Rainfall (cm) | 48 | 68 | 63 | 7.3
Number of Hours ' ' ‘
-since 7:00 a.m. Friday 0 4 6‘ |- 10_
a. Alexis claims that the reletionship between _the amount of rain in the gauge and the number

of hours displayed in the table is a proportional relationship because the amount of rainfall
between 0 and 4 hours is the same as the amount of rainfall between 6 and 10 hours. Do '
you agree with Alexis that the relationship is proportional? Use mathematlcal reascmng to

expfaln why you agree or dlsagree with Alexus
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Secure Material: Do Not Copy! S 1 1 b

b. Beniji observes that the amount of rain in the gauge is increasing at a constant rate of
© 0.25 centimeters per hour. Use Benji's observatlon to determme how much raln wull bein the
- gauge after 15 hours. Show your work. - b T :

i
x=d 7%
““{h@re ool be A\, 75cm ogv&mm’r‘i\e/
ool aRer\bhoutor 5

c. I the total amount of rainfall is more than 10.5 centimeters by 7:00 a,m_.‘Satur‘d'ay, Alexis -
' and Benji will cancel their trip. Assuming the rain continues to fall at the same rate, will they
¢ancel their trip? Use words and a table, graph, or equation to justify your decision.

28 Yoo, ey wilk canesl Faeiekerg.
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Anchor 11 Litho 00057200016
Total Content Points: 0
Total Practice Points: 0

In Part B, the student does not correctly calculate the amount of rain in the gauge after 15
hours (no credit for 7.NS.A.3). The student extends the data table in Part C, but stops at
18 hours and 9.3 cm, which is insufficient to determine whether the trip would be
cancelled (no credit for 7.EE.B.4b). The student attempts all parts of the problem, but
because the data table is incomplete, it fails to clearly demonstrate that the student
understands that O represents 7:00 a.m. Friday (no credit for MP1). The student correctly
disagrees with Alexis in Part A. However, it is unclear whether the explanation (“if so
they would had the same answers”) means 19.2 and 10.5 would have been the same as
each other or as the numbers in the data table (no credit for MP3). This explanation also
lacks precision of mathematical language. In addition, the student divides by O in Part A
and gets a numerical answer, demonstrating a further lack of precision (no credit

for MP6).

Total Awarded Points: O out of 5
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